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Wb 7

I AL

v - ;
A bubble of air is rising through a vertical column of water. V! .
st s )
— H P 2 ‘4 vV
Which statement, about the motion of the bubble, is correct to a good approximation?
1 A The bubble has a constant velocity because its weight equals the viscous drag.

)/ - . . /
JE_ B The bubble has a conistant velocity because the upthrust is equal to the viscous drag.™

[1 C The bubble has an acceleration because its weight is greater than the upthrust. *

£ D The bubble has an acceleration because the viscous drag is greater than the upthrust. %

L Ly {m
\ A student carried out an expe’ to d.eler ine the acceleration of frep fall. The initial
Z height of a ball bearing was measured using almetre rule.

T

\I\‘w.,u: PV \}Lut,m 3 EM\/

T

That is the best estimate of the percentage uncertainty in the measurement of height?
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[ ) Comment

Diagram 1 Diagram 2

“If a car was going faster, it would have better fuel economy. A lot of modern
cars have engines that are more efficent at 200km h ' than at 100km h'.”
il

Reply

W,,\GM R Mk o

“You confuse efficiency with fuel consumption. You cannot get better fuel

9 thyust 42

— economy at higher speeds.”

& [
== n |, i — /
Justify the statement in the reply. i\ '—_7 ﬁ 2 ?/] . ][M\ 4
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